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Q#1: A particle starts from rest at t = 0 s. I'ts acceleration as a function of time is shown
in Fig. 1. What is its speed at the end of the 6.0 s? ( A) 4.0 m/s)
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Q#2: A ball is thrown vertically upward with an initial velocity vo and reaches its maximum
height in 6.0 s. After how many seconds will it have a velocity -vo/2? (A19.0 s)
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Q#3: The position of an object moving along an X-axis is given by x = 3 + 60t - 5t**3, where '
X is in meters and t is in seconds. At what time is the object momentarily at rest?
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Q#1: Figure 2 represents the straight line motion of a car. What is the distance traveled
by the car from t+ = 0 to t = 5 h? (h stands for hours) (A1 480 km)
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Q#2: A stone is released from rest from a height H. It takes 2.00 seconds to fall a
vertical distance of H/2. What is the time needed to fall the total vertical distance (H)?
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Q#3: An electron moving along the x axis has a position given by x = 40 t - 10 t**2, where
xisinmand t is ins. How far is the electron from the origin when it momentarily stops?
(A1 40 m)
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Q#1: A particle starts from the origin at 1 = 0 and moves along the positive x-axis. A
graph of the velocity of the particle as a function of time is show in Fig 1. The average
velocity of the particle betweent = 0.0 sand 5.0 s is: ( A) 1.4 m/s)
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Q#2 A stone is thrown vertically upward with an initial speed of 10 m/s. What is its speed
when it returns to a height of 3.83 m above its starting point?:( A1 5.0 m/s)
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Q#3: Starting at time t = 0, an object moves along a straight line with a velocity in m/s
givenby v=72 -2 t**2, where 1 is in seconds. Find its acceleration when it stops
momentarily. (Al -24 m/s**2) =
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Q1 Fig 1 shows the position-time graph of an object. What is the average velocity of the
object between t=0.0 s and t= 5.0 s? ( A) 2.0 m/s)
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Q2: A balloon carrying a package is ascending (going vertically upward) at the rate of 12
m/s. When it is 80 m above the ground the package is released. How long does it take the
package to reach the ground? (A1 5.4 s) .
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Q3 The position of a particle moving along the x axis is described by the equation x(t) =
5.0 + 2.0t - t**3. What is the position of the particle when it is momentarily at rest?.
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Q1 Fig. 1 shows a graph of position versus time for a particle moving along the x axis. What
is the total distance travelled by the particle in 15 s? (A112.5m)
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Q2: QE-An object is released from rest at a height H. It takes 2.00 s for the object to
fall from point A to point B (see Figure 1). What is the initial height H? (A1 385 m)
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Q3 A particle moving along the x axis has a position given by x =(24 t - 2 t**3) meters,

where 1 is measured in seconds. How far is the particle from the origin (x=0) when the
particle stops momentarily? (A1 32 m)
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Q1 Figure 1 shows the velocity-time graph of a particle moving along the x-axis. What is
the average acceleration of the particle during the time interval + = 1.0 s to t = 8.0 s??( A)

-2.1m/s2)
V (m/s)

A NG
aMJ»; Q{”', b‘g\’,—b\r i

N (F=85) =5 /S

Vi (F=res) = x °“/55 TEERER
_— ’ ‘

//_6/|(7 =" — A E
Gy 22—, * e .

v Figure 1
W\/S
=, e 21

Q2: A stone is thrown vertically upward such that it has a speed of 9.0 m/s when it

» t{s)

reaches one half of its maximum height above the launch point. Determine the maximum '
height. (A18.3 m) W/t,;j VM
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Q3 Anobject moving along the x axis has a position given by x = (3 1 - t**3) m, where t is
measured in s. What is the acceleration of the object when its velocity is zero? (Al -6.0

m/s**2)
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